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With a 7199 and with the value of a v — UYND MY WINB2

OVERVIEW

Our mwn states that 9777 n°2 maintains that for 793 > 7P to be valid, a 71D or a
7015 MY is required (while ¥"2 maintains that a 71°7 or 71°7 MW is required). Md0IN
will explain, first, why there is a need to mention both fv175 and 7m5 MY, and
then explain from where we derive that 102 MW (or 7VINB MW) is the equivalent of
703 (a 7vMY) by WP and elsewhere.

nooIn asks:
— 11919999 NIYA NIN 59139 1YY NN XYT NN

It is astounding! The mw» should not have mentioned 71792 but rather only

awD M2 and we would understand that an actual 79 is valid (for an actual 7vID is
certainly 701D MW) —

Mmoo supports his contention that w175 7w alone is sufficient:?
— 31D VY9 IYNN (1 97 xywn x32) ANTHA )INTD

As we learnt in a /mwn in 27717 P95 ‘There are five n192°, and the mwn enumerates

— NV NIV NVIPHNN NYNRNI NVIND NIVWA *INTINN
‘The admission needs to be a 7@MD M2 and a woman becomes nwTIpP» with a

WYND MW, etc’. The mwn there does not mention 7v15,° only 7u1Ma Mw; why does our mIwn
mention 70119?!

N1v0IN answers:
- 99532 JNI NINT DIUN 91 U

And one can say; that since the 772w here mentions - *no>
= 950 125 NVINDY INNY N2 91T YOI NN YN

he explains which no3;” according to w'z it is a 2397, and according to "2 it is
a aume.

! See “Thinking it over # 1.

2 mooin (perhaps) seeks to prove that the syntax of 70119 M@ alone (without 7U1D) is acceptable in a 7wn.

3 There are five cases where the minimum of a 70172 7 is required for them to be effective.

4 ax7n refers to the case of a n¥pna 77n; that he is liable for a av12w only if his admission is at least for a VD MW.
(If the admission is for less than a 710119 MW there is no Ay12Ww 21°1.)

3> See nOY MMy who comments that the 7awn there also mentions 377 .Mw195 wan first. w"»y.

¢ The word 702 means money. It is necessary to define this money (a 72°7 or a nv110). However the mwn in 2717 does
not mention 703, therefore it is sufficient just to mention the value (that of a 70175 MW).
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— 9903 MY RYY XPYT 09 9219 NP0 RYY 5raY)
And in order we should not mistakenly assume that only n®>2 is valid for w17°p

and not n©> 7MW (MooIn explains why we may mistakenly assume this) -
= 405 111752 29157 199199 NTWN NP NNP 9927

For we derive the 10> 11p by 7w through a 7msp AP MY 7771 from PBY °7W,

where 00> is written explicitly (we may therefore mistakenly assume that only 70> is valid
for 1v17°p and not 702 MY) -
— 12995 MY Y91

The 71wn therefore explains that 5o MW is equally valid.

nvoIN asks:
— 139995 905 MY 19 NI 9NN ON)

And if you will say; and indeed how do we derive that o> mw is no22 —

moon strengthens his question that a P03 is necessary to teach us that o33 qo2 mw: 4

— 9095 U MY MY 17251 16593y 4ay 52N NP NI SPM (5,10 9 1IPY NNT
For later concerning 592y 72y the X713 requires the 102 of 25w to include mw
B®2 as f®> concerning the redemption (and acquisition) of an ¥"v. The question is that just as
by ¥"v a 7% is required to teach us that 5033 qo> MW (for otherwise the 77N states [only] Ho2);
similarly by Pw171°p 102 a 7717 is required to teach us 7032 102 MW (for otherwise the 77N stated

7 moon answer might be that when the mwn is stating 701193 131 7173, it is not intending to teach us the details of
how to perform 702 *w17°p (for many details are lacking in the miwn [concerning WY ,n03 and 7X°1]), but rather the
m1wn wants to clarify the general idea of 702, that it means either a 71°7 or a mv171. See following footnote # 8.

8 NpoWN may be addressing an anticipated question; if the purpose of mentioning (1°7) 717 is (merely) to explain
no> (but not to specifically discuss the details of 702 *w17p [see previous footnote # 7]), then why mention 71D MW
("7 ) at all!

% If the mawn would have written only 711792 772 one might have mistakenly assumed that the 71wn is limiting
q03 "WI7TP to money exclusively and not 703 Mw, for the reason Moon will shortly state.

10 See the X3 (on this TmY) following the mwn.

113030 (7w 1) n°wR12 reads "N 7TWA 403 NN

12 The mwn (even though it is not disclosing all the details [see footnotes 7&8]) must prevent us from making an
erroneous assumption.

13 mpoin is following up on his previous statement that there is reason to argue that concerning 1v17°p, we might
assume that 103 MW is not 1033 since by 1MOY 77w the word 702 is mentioned.

14 One may have argued that even though by 1179 77w the 105 mentions 703, nevertheless logic dictates that 703 mw
is 7032. Therefore nvOIN rejects this argument based on *2y 7av. See yw7 7210 for a different view.

15 See w"w" who suggests that Moo may be referring to the 83 on (2> 7"7 ow *"w12 “») &M

16 See ‘Thinking it over # 2 (and # 3) See also footnote # 38.

17 In %3,75 (7712) Rp7 the 700 reads (concerning the 1" of an ¥"¥) INIpn 7027 NN W 17907, The X7n3 interprets
the (extra) word 2°¥" to include that he can redeem himself with 702 MW as well as with 703 [and by inference that he
can be acquired with 10> mw as well. Initially the word 2°w” taught us that the ¥"¥ 1175 can be with 103 7w. However
once there is the 7%°2 of 1N1pn 707 NN 2°w° to include 2"2w by 179, it also applies to ¥"¥ 1°1p, the WP AN, that
the 11p can also be with 2"w.].
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[only] 703).

Mmoo continues and asks a similar question:
— 131 192792 YD IPY NIND 297 (x,n 91 12PY 99N 13905 1192 25157 )20 171D

And concerning the redemption of the first born son, where the word no> is
written, and nevertheless the X713 states later that X372 29 accepted a shawl for

3357 31972 (in licu of the qo> o*2pw nwnn); the question is -
— 9095 905 MYT )Y NIy

And from where do we derive that 5922 092 W by 127 7770 as well?

mooIn offers an answer concerning 1277 11°79 that 022 702 MW:
— 199591 V99Y YD YN (3,791 MMAVT NP D992 91919

However in the first P72 of myaw noon the X3 expounds a %921 waDY B9
concerning 7277 11°79. This explains why 7033 7103 MW by 127 11775.

mooIn continues to ask by different cases:
— 2105 152 29157 2°9P59y 3 YaN

However concerning 1°>9Y where n®2 is written in the 7n, and nevertheless 703 mw

is accepted?? -
— 905 NIV U2 NT9) WIPNVY NTY WITPNN 23D (x5 97 paw) 1INT 23903 WP

And also concerning w77 where the 71wn teaches us concerning one who was

werpn his field, that wTPn can be redeemed either 1922 or o> MW, the question

is, in these two case of wW7pm 1PV -
— 9025 905 MYT P

From where do we derive that o> 72 is 7932 by wipm 1737w?!

mooIn offers an answer concerning WIp::
— 9551 VY9 D95 1IPYITT BHWAN ) MYTPNI NN

13 In 10 ,m (77P) 712712 concerning a O7R M2 the 77N writes "X @PPW NWAN A0 4372 779N WIN 120 PITOY.

19 The word 1791 (see previous footnote # 18) is the (first) 93 and "\ 702 A27v2 is the 7D and the word 73791 is the
final 95 (see *"wn there 9921 71 7790 7"7 that we can use two 1771 22107 02293 as a 2721 ¥191 793). The 9931 ¥191 975
is 727 any thing which is movable and has an intrinsic value; this includes 7102 mw. It excludes mypap (which are
not moveable [MypIp? Wwpinw o°7231]) and Mww (which have no intrinsic value).

20 The 7N teaches us in 1-X,15 (*nNPW2) X1 that if a person states *7v *>7w (I am obligating to pay my value) he
must pay the amount fixed by the 7710 according to his age and gender.

21 In 3,1 (>nPIN2) XP™ concerning the T of a 37 the 77N writes "\ A03 Ypw W nn 127 M.

22 See (W"w) R0 PITII0.

23 Concerning the redemption of a field which one was w>7pn the P09 in 10,15 (*MpR2) R states 70.

24 It seems that there is no explicit 9731 v191 923 mentioned by w7ps in the X3, However madin assumes that there is
a 9721 1191 993 for the following reason.
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However it is possible that by w7pn there is also a %921 ©991 %> which would

include 702 Mw.
— (%,73 97 8810 X323) ANTNA IIPIINTI YPIPA NT2) VTP PN NIT

For w7pn cannot be redeemed with land, as the X773 states in 2757 P79 -
— 2599 7 G921 N N NINDNIT P99 223 IY HINNN WIPN PN 1IN 290

‘For they said, w7pPn cannot be redeemed with ¥ for the 7710 said ne27 1Y

Yo ap.
— 2690WA Y YUY UTPN PTID PNT 132N 993 (x,n 91 AP

And later the X713 also states that wTp7 and "2 "wyn cannot be redeemed with

a W, these facts that w7pi cannot be redeemed with ¥pp and "W strongly indicates that there
is a 5221 v %95 which would include 703 mw and exclude ypp and ~vw.?’

mooin explained from where we derive 3"2w by 7271 1179 and w7pn -
— 9025 905 MIVYT 191 P29 PYWITP 2) YaN

However concerning 1929 127P? from where do we derive that 3'"'>w?!

modIN answers:
— 992¥ T2y 1399957 95 UM

And one can say that we derive that 3">w by 127 12172 from »''Y. Just as by ¥"v
the rule is that 2">w (which we derived from 2°w°), the same applies to ¥"1p.

mooIn has a difficulty with the previous answer:
— 19532 25Y GO 28X9P AN9 93 PP 22N XN 9NN ON)

And if you will say, but by 19211 the 77710 also wrote 195»2a® 25w no> -
— 9099 903 MY MY 95U (x,1 97 AP NIAT XD P93 199UAT)

And we interpret the word 2> in the first 92 of p''2 ndoon to include nes Mw
as no> -
— 319591355 PR 09N PRIN 1IN IY 92Y TP PP N 19 ON)

25 There is no such p109. The general consensus is that the X3 is referring to the P09 in ©,13 (°NPN2) X which
reads 12 0P YPY 727V A0 NOWHA A0M IR WP AT DR PR PR3 oRY. Ostensibly the 2°9%5 would be (983°) 9xx and o)
12 and the v would be a0>.

26 This (seemingly) would mean that one cannot write a promissory note (check) to wpn that I (the 779) owe you
(w7pn) the value of the item to be redeemed. Alternately one cannot redeem w7pi by offering it a note that is owed to
him by another party thus transferring the debt to w7p. This is not a valid 11"79. See X"2w7 who interprets it to mean
that you cannot be w7pi1 7712 by writing on a 20w that 175 71 WP

%7 See footnote # 19.

28 In 79,80 (D°WOWwn) N the P00 reads "3 PHya%? 2w AOD OYW N1a7 HYa.

29 The word 2w is superfluous; the 7M1 could have written 1%v2% 703 09w a7 “va (without 2°w).

30 y"y and 111 both have 0’109 that teach us the same rule of 2"Jw.

31 When the 7m0 writes a rule in one place we can apply it elsewhere (unless there are valid reasons to limit this
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And since this is so therefore »'"¥1 °p11 are two verses 718> 1°827, and they
cannot teach their rule to any other case in the 771n.

modIN answers:
— 3255998 11199907 91217 Y

And one can say; that both 0’109 are necessary by ¥"v and pp>11. Since both 2°p109
are necessary; they could not be derived from each other, therefore we are able to derive this rule
in other places as well including 12731 7W17p.

moon explains why 1P 11 ¥"y cannot be derived from each other that >"ow:
— 11939 PP 999D K81 KD NN Tay AN INT

For if the 770 would have written the rule of 2">% only by 72w, we could not

have derived 1°?°11 from 72V; that also by 11 the rule is that >"ow -
— 33309 13¥7 NN VIAPAVY 1INV 29Y

For since we find that the 77710 is particular concerning 2w’ -

—1PP2%3 %2) BPYW GO TIIVKIN 991D PIY XD NPT U 9193 NN PNYT XPHD)
So we would have also thought that only no> is sufficient and not something
which is (merely) the value of 703; therefore it is necessary for the 770 to write
25" o> by 3971 to teach us that even by 1211 (which requires 2v°n) nevertheless any 703 mw
(of 1"0%un) is sufficient.

mooIn now explains the other side of the xm>x:
— PPN GO 283 YT NP 133 TIVNN 92 Tay 22N
And concerning ¥'"y we also need a 02, for we could not derive from p°n

that the rule of 5">w applies to ¥"V -
— 209 O¥2%Y ¥YPIPA 393D ON) PPITIT NIIIT TaY NN MNT

ruling). However when the 7710 teaches the same ruling in two (or more) places, then it cannot be applied elsewhere.
If the 7m0 would have intended that this rule should apply elsewhere the 71710 should have written this rule once and
apply it to the second instance (and elsewhere) as well. The fact that the 7m0 writes it in both instances indicates that
the 770 limits this rule to these two instances only. See following footnote # 32.

32 The rule of P71 1K 'R 1827 P23 2 applies only in a case where either of the 1213 "2 could be derived from the
other (see previous footnote # 31). However when neither can be derived from the other, then even 'k 1°&277 121012 2
are T, for the logic mentioned in footnote # 31 does not apply. The reason the 770 wrote the same rule in two
places is not because it wished to limit this rule to these two places exclusively, but rather it was necessary to
mention them in both places, otherwise we would not have known this rule to be effective in both places.

33 The rule by Pp>11 is that if the P> wishes to pay the P11 with ¥pp he must pay with the highest quality yp7p that
he possesses, for the 77N writes in 7,20 (2°0own) MW that 22w w73 2L 17w 2w, This rule is unique to TR
Therefore it could have caused us to reject noo Mmw (for it is not the 2V [of 1Hu7vA]).

34 [Seemingly however mamn should have also said a greater novelty, if the 72y wants to redeem himself with ypap
then 2wv>n will be required (for the 11p is 72v77 5w 1Ny 71 and he can certainly request 2v°n, however the 179 is 5w 5"va
17871 and nevertheless the 117X can insist on 2v°7). ]
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For if we would attempt to derive ¥"v from 771, I would have said that 72y
must be similar to PP, and if he is to be acquired with ypap it should be
required to be with 2w since we are deriving ¥"v from Ppm.

— 1199998 TOIOWN Y
Therefore both 0?05 are necessary, so they are not considered 'X3 PX27 12105 2 and
therefore we can derive from them 7273 PR as well.

mooIn offers an alternate version of the xn12™x:3>
— NN M9 Taya AN5 N 999 W 9 N

Or, one may also say; if the 770 would write the rule of 3">¥ only by 72y, I

would have said -
— 403 MY IPAN LY MTAY 91997 1YY HPIw NN 1Y

That it is justified that we should be lenient by the 71y that he should be

allowed to redeem himself even with n9> 7% (if he cannot raise the 702) -
— 3692595 Y1291 )2 ¥NIVS NOY *15

In order that he should not intermingle amongst the idol worshippers the 710

therefore allows®’ any type of 1179 even with >"w-
— 997 199K NY 75 9199199 7Y RHT )PPt %3y VAN

However by 1°?°11 where this reasoning is not applicable (there is no compelling

reason that the P should not pay only 702), we would not say so - that >">w, but
rather he must pay only with 702.

moon explains the other side of this Xn157%:
— 719990 73y 9951 81 NI NT99) P12 AN ON)

And if the 770 wrote >">¥ only by 15?312 we would not be able to derive 72y

from ypon, that by 72y also 2"ow -
— 385991397 99 ©9) NIN DIV 29D Ta¥a DD 4D MY NN XDT PNYT XPHOT

For it would have entered our minds that by an 72y there should not be the
rule of ">w because he also caused himself to be sold (and therefore we should not

3% See “Thinking it over’ # 6.

36 The p109 of W73 2w (from where we are 3"ow 727n by an ¥"V) is written in the Aw"® which discusses a 2X >
who was sold as a slave to a 121 (see 73 ndOWH 7"72 QW 2"WID 172,70 [172] RIPM)

37 See X"w1n who maintains that according to this 1"X we cannot derive Pw TP from ¥"V concerning 3">w (for the
same reason that we cannot derive Pp*11 from ¥"v) for by ¥"v there is the X120 of ¥nv® Xw; rather we will derive that
2"5w by 1w7Tp from P11, [See the m1pn cited in "y ¥R in the "7 MR T1RA X"wAnn why we will not assume that 2v7n
is required by P17 as it is by 1p°11.] Alternately we can say that 1273 Pw17p are derived from a mwn 7% from P11
y"» (if we will ask that by " there is the X120 of ¥nu> 2w we can respond that >3 Ppo13, and if you will say that
avn is required we will answer that 21 ¥"v). See T%>nn *w1on 13X footnote # 363.

38 See ‘Thinking it over # 3 (and footnote # 16).
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be lenient with him. m»oIn explains what is meant by 1512 17 073 X171 03w. He became a slave (to
a"™2) -
— (597 F)1NPYT NINN 293 YD) 5299) NYYAY 993 11 RYIY DY

Because he dealt with the fruits of ny>aw (which are forbidden for business

purposes) and as 11''92 >'"1 will state later in the x 3 -
— VY XD GO NPT 9997 199 990NIT PHYT RPHD)

So therefore we would think that we should be strict with him to say only no>

and not its value, therefore it was necessary for the 7N to teach us that also by 72y the rule
1s "ow.

mMooIn anticipates a difficulty:
29AY Ay PPN P9 XYY 4D D NIVT YIPNI 12N 11979Y NP TII0NINT NN

And the reason a P0p is necessary to teach us that 5o5 mw is n©3> by 3377 11979

and P77, and why do we not derive it from ¥'"¥Y 1P as we derive P31 PYITR
from ¥"v1 PPt —

mooIn responds:
:MYTPN DTN 9193 172 PO PRY UMW) MYPID VYNY XY %9Y

Because there, by w7 1277 1179, the 105 which teaches us 7022 103 MW (through a
5991 1791 H90) comes to exclude N wvR NwpaP; that we cannot redeem a human

1122 and w72t with them. We could not derive that from v"v1 Pp11. They can only teach us
that 2">¥ but not to exclude n1YvwY NMYPIP.

SUMMARY

The 71wn writes (71°7) 7”19 to explain 7o2. It adds (792) MW so we should not
assume that only 7023 is valid.

We derive 7022 103 M@ by 127 1175 and w7pi from a 5721 0791 553;

By 127111 "12v 72y from the word 2°w” that appears in both instances.

P11 °72Y 72V are not TAXD O°K277 0°2102 "1 because there are two NINDOX.

T2 PYITR can be derived from (PP i) ¥"v. However wWipm 127 17 require the
5501 1791 993 to exclude n1vY NMYPIp.

THINKING IT OVER

3 "2 explains the order of the N1Wo in 772 that they are successively worse punishments for transgressing Ny aw
(which is mentioned in the beginning of the 7170); including selling his P7v7v» and vpap, etc. until one is so
desperate as to sell himself as a slave to a »™>1.

40 This would also explain why we do not derive 2"2w by 1373 1w17°p from w7pm 2"779, for it would also exclude
nowy nypap (which may be acceptable by 127w pPwiip).
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1. Does mpoin initial question (that it should only state 70179 7Ww)*! apply to w"a
R as well (that it should only state 71°7 MW and not 71°7), or the question is only
concerning 71"3, but not w'"1?4?

2. mpon argued that a 2109 is necessary to teach us that 3"2w (by 1v17p) from the
fact that a P09 is necessary by ¥"v.*> Why did not m9o1n (also) say because we see
that a 109 is necessary by 7p1a214

3. How did ms01n ‘prove’ from ¥"¥ that a 7109 is required by w17 to teach us that
5"2w?* Perhaps only ¥"¥ requires a 7109 that 2">w since 221°% MYy o7 X7 (and
similarly °p°11 because it requires 2uv°»n), however by 1w 7P where this reasoning
does not apply there is no need for a P10, for (ordinarily) logic dictates that >"5w!4°

4. awx v17p 1s basically different from p*11 and ¥"¥ (11°79). By 1w17p the woman
willingly accepts the 702 (or 2"W), otherwise there is no W 1°p. However the 7"
of 2">w by ¥"¥1 111 1s that even if the P11 or the 1IN refuses the 3"w, he must
nevertheless accept the 3"w as payment. How can we therefore prove from the fact
that a P09 is necessary by 1P i ¥"v concerning 3">w, that the same should be
necessary by 7w *w17p (where she is willingly accepting the 3"w as Pw17°p)?!4

5. Why does nmoo1n (initially) maintain that we derive 2">w (by ¥"p) from ¥"¥ and
not from Pp11748

6. Why did mooin find it necessary to make two mnm2»z?2!4

7. When we are 7127n that 2"5w; does that mean that qo> MW is also valid (but
remains distinct from 702) or that 703 includes (and is not distinct from) qo5 MWw?>°

41 See footnote # 1.

42 See Tmon7 "wnon 13X (footnote # 262-3).

43 See footnote # 16.

4 See 7m0 *wnn XX (footnote # 281-2).

4 See footnote # 16.

46 See [71RA] R"wAIA.

47 See 1MMWRT XYY X"2w1 and 7"»R (footnote # 290 & 296).
48 See noY My and 7"aR (footnote # 342).

4 See (footnote # 35 and) v> MR 77 NO.

30 See 19109 217p " MR AT @n? Ma.
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